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1. &��� � ����'� �%�����/ ��%&�����/ 
&5?O<< 4<EF<??<=O «�=>EFD4==O= O7O>» O6?ONFEO:  
3 ?>6OL5=<5 <EE>4=>7> GD>6=O 6?445=<O <=>EFD4==O< O7O>><, >6?445=<O =5>5E>4<<O< < 

4>EF4F>G=O< GD>6=5< >><<G=<>4F<6=>= >><?5F5=F<< 4?O D5L5=<O E>F<4?L=>->><<G=<>4F<6=OE 
7444G 6 D47?<G=OE >5?4EFOE 5OF>6>=, >G?LFGD=>=, ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, 4 F4>65 4?O 
44?L=5=L57> E4<>>5D47>64=<O. 

�444G4<< 4<EF<??<=O «�=>EFD4==O= O7O>» O6?ONFEO:  
- D476<F<5 G >5GG4NM<EEO GG55=OE G<5=<=, E6O74==OE E ?D<5<4<< E4<>EF>OF5?L=>7> 

?D<>5D5F5=<O 7=4=<=: >D<5=F<D>64FLEO 6 ?<EL<5==>< < GEF=>< F5>EF5 =4 4=7?<=E>>< O7O>5,  
>5>5M4FL <=D>D<4F<N, 6O45?OFL 55 <7 D47?<G=OE <EF>G=<>>6;   

- D476<F<5 E?5F<4?L=OE GG55=OE G<5=<=: <E?>?L7>64FL 6O5>D>G=O= ?5D56>4 4?O 
4>EF<65=<O ?>=<<4=<O F5>EF4; <=F5D?D5F<D>64FL O7O>>6O5 ED54EF64, >FD464NM<5 >E>55==>EF< 
>G?LFGDO 4=7?>O7OG=OE EFD4=;GG4EF6>64FL 6 ?D>5>F=>= 45OF5?L=>EF< <56?D54<5F=>7> E4D4>F5D4, 
6 F>< G<E?5 E <E?>?L7>64=<5< <=F5D=5F. 

 
2. ��%&� ��%&�����/ � %&$'�&'$� ��� 

�<EF<??<=4 «�=>EFD4==O= O7O>» >F=>E<FEO > >5O74F5?L=>= G4EF< �5M57> 7G<4=<F4D=>7> < 
E>F<4?L=>-M>>=><<G5E>>7> F<>?4 ���� %�� (��%-.03) < =4E>4<FEO 6 ?>7<G5E>>= < 
E>45D64F5?L=>-<5F>4<G5E>>= E6O7< E 4DG7<<< 4<EF<??<=4<<. 

�D54L5EF6GNM<5 4<EF<??<=O (>GDEO, 
<>4G?<, ?D4>F<><) 

�>E?54GNM<5 4<EF<??<=O (>GDEO, <>4G?<, 
?D4>F<><) 

- �D4>F<>4 ��1, ��2 

&D55>64=<O > 6E>4=O< 7=4=<O< <G<5=<O< EFG45=F4 D>D<<DGNFEO =4 >E=>65 ?D>7D4<<O 
ED54=57> (?>?=>7>) >5M57> >5D47>64=<O ?> <=>EFD4==><G O7O>G. 

 
3. �����$'��/� $��'�,&�&/ ��''���/ �� ��%&������ 

 
�D>F5EE <7GG5=<O 4<EF<??<=O =4?D46?5= =4 D>D<<D>64=<5 M?5<5=F>6 E?54GNM<E 

>><?5F5=F<= ?> 44==>=E?5F<4?L=>EF<:  
�>4 

��, �� 
'<5=<O �=4=<O 

�� 02-
03 

�� 04-
06 

�� 09 

?>=<<4FL >5M<= E<OE? G5F>> 
?D><7=5E5==OE 6OE>47O64=<= =4 
<765EF=O5 F5<O (?D>D5EE<>=4?L=O5 
< 5OF>6O5); 
?>=<<4FL F5>EFO =4 547>6O5 
?D>D5EE<>=4?L=O5 F5<O; 
GG4EF6>64FL 6 4<4?>74E =4 7=4>><O5 
>5M<5 < ?D>D5EE<>=4?L=O5 F5<O; 
EFD><FL ?D>EFO5 6OE>47O64=<O > E555 
< > E6>5= ?D>D5EE<>=4?L=>= 
45OF5?L=>EF<; >D4F>> >5>E=>6O64FL 
< >5NOE=<FL E6>< 45=EF6<O (F5>GM<5 
< ??4=<DG5<O5); 
?<E4FL ?D>EFO5 E6O7=O5 E>>5M5=<O =4 
7=4>><O5 <?< <=F5D5EGNM<5 
?D>D5EE<>=4?L=O5 F5<O. 

?D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE
 ?D54?>65=<= =4 ?D>D5EE<>=4?L=O5 
F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 
7?47>?O (5OF>64O < ?D>D5EE<>=4?L=4O 
?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > 
>?<E4=<N ?D54<5F>6, ED54EF6 < ?D>F5EE>6 
?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O 
F5>EF>6 ?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 

 
4. ��.�� ��%&�����/ � ���/ ''����� $���&/ 
 
�5M<= >5N5< 4<EF<??<=O 4?O �$� E>EF46?O5F124G4E>6. 
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�<4 GG55=>= D45>FO �E57> 
G4E>6 

E5<5EFDO 
3*/1** 4*/2** 5*/3** 6*/4** 

�G4<F>D=O5 74=OF<O (D45>F4 >5GG4NM<EEO 
6> 674<<>45=EF6<< E ?D5?>4464F5?5<) 
(6E57>) 

116 
32 40 24 20 

6 F>< G<E?5:      
�D4>F<G5E><5 74=OF<O (��) 116 32 40 24 20 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 8 - 4 4 - 
�D><56GF>G=4O 4FF5EF4F<O 
(74G5F/M>74<5=/>>=FD>?L=4O D45>F4) 

 >>=F. 
D45. 

>>=F. 
D45. 

74G5F 
4<DD. 
74G5F 

�5M<= >5N5<, G4E 124 32 44 28 20 
* - ED54=57> >5M57> >5D47>64=<O (%��) 
** - =4 5475 >E=>6=>7> >5M57> >5D47>64=<O (���) 
 
4?O �$� - 124 G4E>6. 

�<4 GG55=>= D45>FO �E57> 
G4E>6 

E5<5EFDO 
3*/1** 4*/2** 5*/3** 6*/4** 

�G4<F>D=O5 74=OF<O (D45>F4 >5GG4NM<EEO 
6> 674<<>45=EF6<< E ?D5?>4464F5?5<) 
(6E57>) 

14 
2 4 4 4 

6 F>< G<E?5:      
�D4>F<G5E><5 74=OF<O (��) 14 2 4 4 4 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 102 28 38 22 14 
�D><56GF>G=4O 4FF5EF4F<O 8 2 2 2 2 
�D><56GF>G=4O 4FF5EF4F<O 
(74G5F/M>74<5=/>>=FD>?L=4O D45>F4) 

 >>=F. 
D45. 

>>=F. 
D45. 

74G5F 
4<DD. 
74G5F 

�5M<= >5N5<, G4E 124 32 44 28 20 
* - ED54=57> >5M57> >5D47>64=<O (%��) 
** - =4 5475 >E=>6=>7> >5M57> >5D47>64=<O (���) 
 
5. %���$����� � %&$'�&'$� ��%&�����/ 
 
5.1. %>45D64=<5 4<EF<??<=O 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 
(F5<O) 

%>45D64=<5 D4745?4 (F5<O) 

3 E5<5EFD 
1 &GD<7<. �D>D5EE<< 6 

FGD<7<5 
 

&GD<7<: >?D545?5=<5 FGD<7<4 < ?>=OF<5 FGD<EF. 
�D>D5EE<< 6 FGD<7<5: >5O74==>EF<, D45>G<= 45=L =4 D45>F5, =46O><, 
=5>5E>4<<O5 4?O D47?<G=OE ?D>D5EE<= 6 ED5D5 FGD<7<4. 
�4F<>=4?L=>EF< < O7O><. 
�>DO4>> E?>6 6 4=7?<=E>>< ?D54?>65=<<; 7?47>? «tobe»; ?<G=O5 
<5EF><<5=<O; =4EF>OM55 =5>?D545?5==>5 6D5<O < =4EF>OM55 
?D>4>?65==>5 6D5<O (The PresentIndefiniteTense, 
thePresentContinuousTense); =4D5G<O G4EF>F=>EF<. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�=F5D6LN E D45>F=<>>< ED5DO FGD<7<4: 6EFD5G4, 7=4>><EF6>, 
?D>D5EE<<, ?D<65FEF6<O, 5?47>44D=>EF<, ?D>M4=<5, D>D<O 
>5D4M5=<O. 
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$>?564O <7D4: �D<65FEF6<5. �=4>><EF6>. $4EE>47 > 5G4GM5= 
?D>D5EE<<. 

2 %FD4F57<O FGD<EF<G5E>>7> 
5<7=5E4 
 

%FD4F57<< FGD<EF<G5E>>7> 5<7=5E4: DO=>> FGD<7<4 < 57> 
<EE?54>64=<5, F5?< < 7444G< FGD<EF<G5E><E >><?4=<=, >>=>GD5=FO, 
=4?D46?5=<O FGD<7<4, D5>?4<4 6 FGD<7<5. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
$D47O E>7?4E<O <?< =5E>7?4E<O. 
�4?<E4=<5 D5>?4<O FGD>6, 7>EF<=<F, GE?G7. �5D47FO D5>?4<=OE 
>5NO6?5=<=. 

3 �<4O ?GF5L5EF6<= �<4O ?GF5L5EF6<=: 6 746<E<<>EF< >F 6D5<5=< 7>44, 
?D>4>?6<F5?L=>EF<, F5?5= < <=F5D5E>6. 
�>44?L=O5 7?47>?O; ?D<G4EF<5 =4EF>OM57> 6D5<5=<; E>N7O. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�4>47 FGD<EF<G5E>>= ?>574><: ?> F5?5D>=G < ?<EL<5==>, 
<=D>D<4F<O > ?GF5L5EF6<OE. &5?5D>==O5 D477>6>DO: >4> >F65G4FL 
=4 F5?5D>==O5 76>=><, ?D46<?4 6545=<O F5?5D>==OE D477>6>D>6. 
$4>EO, M?5>FD>==O5 E>>5M5=<O. �5D47FO E>>5M5=<=. �<EL<> E 
<=D>D<4F<5= > ?GF5L5EF6<OE; ?<EL<>, ?>4F65D645=<5 <=D>D<4F<<; 
74?>?=5=<5 5?4=>4 E <=D>D<4F<5= > ?GF5L5EF6<<. 

4 E5<5EFD 

4 �GF5L5EF6<5 ?> 6>74GEG �GF5L5EF6<O ?> 6>74GEG: >?<E4=<5 4MD>?>DF4 < 57> E?G65: 
D57<EFD4F<O, F4<>6=O, ?4E?>DF=O= >>=FD>?L, 54746; <4747<= duty-
free; ?D46<?4 557>?4E=>EF< 6 E4<>?5F5; E>>D4M5=<O < E<<6>?O, 
?D<=OFO5 6 46<4?5D56>7>4E; GF5=<5 46<45<?5F4, <>=<F>D4 6 
4MD>?>DFG. 
�G4GM55 6D5<O, thePresentIndefiniteTense 4?O >5>7=4G5=<O 5G4GM57> 
45=EF6<O 6 D4E?<E4=<OE; E?5F<4?L=O5 6>?D>EO; >FD<F4F5?L=O5 
?D54?>65=<O; ?D54?>7< 6D5<5=<, <5EF4, =4?D46?5=<O; ?>65?<F5?L=>5 
=4>?>=5=<5. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�D>=<D>64=<5 <5EF =4 E4<>?5F: D4E?>?>65=<5 <5EF 6 E4<>?5F5 (G 
>>=4, G ?D>E>44, >?4EEO); 6D5<O, 44F4, 46<4>><?4=<<, D5=EO. 
%?G655=4O 74?<E>4, >5NO6?5=<5. �5D47FO 74?<E>>, >5NO6?5=<=. 
$>?564O <7D4: �4>47 46<45<?5F4. �D>=<D>64=<5 <5EF =4 E4<>?5F 

5 �GF5L5EF6<O =475<=O<< 
6<44<< FD4=E?>DF4 

�GF5L5EF6<O =475<=O<< 6<44<< FD4=E?>DF4: ?>574>4 ?> 65?57=>= 
4>D>75, D4E?<E4=<5, ?D>574 6 46F>5GE5, =4 46F><>5<?5; F5=O 
< E><4>< =4 5<?5FO; GF5=<5 >?<E4F5?L=>7> F5>EF4. 
'<E?<F5?L=O5; 5G4GM55 6D5<O (The Future Indefinite); The 
PresentContinuousTense 4?O >5>7=4G5=<O 5G4GM57> 45=EF6<O 
(??4=>6); <>44?L=O5 7?47>?O (would + like + to 
(7?47>?)/EGM5EF6<F5?L=>5; would + rather (do)/preferto, could, should, 
oughtto); ?D54?>7< 6D5<5= 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
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< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�4?D>E <=D>D<4F<< > 65?57=>4>D>6=>< FD4=E?>DF5: D4E?<E4=<5, 
6D5<O, 44FO, F5=O. �D46<?4 6545=<O F5?5D>==OE D477>6>D>6: 74?D>E 
<=D>D<4F<< < >F65F =4 74?D>E. 
�5D47FO 4>>G<5=F>6 6 E>>F65FEF6<< E> E?5F<4?L=>EFLN: D5>?4<=O5 
5G>?5FO, D4E?<E4=<5, EE5<O 65?57=OE 4>D>7, 5<?5FO < F.?. �<EL<> 3 
74?D>E/>F65F =4 74?D>E <=D>D<4F<<, ?>4F65D645=<5 <=D>D<4F<< > 
65?57=>4>D>6=>< FD4=E?>DF5. 

6 �DG<7O �DG<7O: >?D545?5=<5 >DG<74; ?4D><O, ?GF5L5EF6<5 =4 ?4==5D5, 
GE?G7< < D4E?>?>65=<5 ?><5M5=<= =4 ?4==5D5/?4D><5. 
�>?D>E<F5?L=O5 ?D54?>65=<O D47=OE F<?>6. $45>F4 E F5>EF><. 
�5D56>4 F5>EF4: «�>EF>?D<<5G4F5?L=>EF< 4=7?>O7OG=OE EFD4=» 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�7<5=5=<5 ??4=>6, >F<5=4 5D>=<. 
�<EL<>-?>4F65D645=<5 5D>=<, >F>47 < <7<5=5=<5 ??4=>6, 
>5NOE=5=<5 ?D<G<=; >5NOE=5=<5 >?<5=FG GE?>6<= 57> >F>474 <?< 
<7<5=5=<= 57> ??4=>6. 

7 �564G=4D>4=O5 
?GF5L5EF6<O 

�564G=4D>4=O5 ?GF5L5EF6<O: =4764=<O EFD4=, =4F<>=4?L=>EF5=, 
O7O>>6; >?<<4F < ?>7>44; <5EF=O5 4>EF>?D<<5G4F5?L=>EF< 
< D476?5G5=<O; 6E5<<D=> <765EF=O5 4>EF>?D<<5G4F5?L=>EF<; 
?>>G?><, ?>44D><, EG65=<DO; GE?>6<O 6N5744 6 EFD4=G; FD4=E?>DF. 
�5D47>64=<5 ?D<?474F5?L=OE; <>44?L=O5 7?47>?O 4>?65=EF6>64=<O; 
E>65FO < ?D54?>65=<O; 7?47>? «will»; 4DF<>?< E 75>7D4D<G5E><<< 
=4764=<O<< < <<5=4<< E>5EF65==O<<; 45EFD4>F=O5 ?>=OF<O. 
�4EF>OM55 ?5DD5>F=>5 6D5<O > ?D>L?>< >?OF5. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�D575=F4F<O >GD>DF4; >5NOE=5=<5 ?D>7D4<<O < <4DLDGF4 
?GF5L5EF6<O. 
�=D>D<4F<>==>5 ?<EL<> ?> F5<5 74=OF<O; >5D47FO 4>>G<5=F>6 6 
E>>F65FEF6<< E F5<>= (5G>?5FO, D5>?4<=O5 >5NO6?5=<O, 
6<45><4F5D<4?O). 
�?4=<D>64=<5 < E>EF46?5=<5 E6>57> <4DLDGF4 ?GF5L5EF6<O. 
�545=<5 ?GF56>7> 4=56=<>4. 

8 �5L5E>4=O5 FGDO �5L5E>4=O5 FGDO: ?>E>4O 6 7>DO, ?> E5?LE>>= <5EF=>EF<; ?5=746, 
?4=4L4DF. �D46<?4 557>?4E=>EF< 6 ?>E>45. 
%D46=5=<5 6D5<5= =4EF>OM57> ?5DD5>F=>7> E ?D>L54L<< 
=5>?D545?5==O< (The PresentPerfectTenseandthePastIndefinite 
(Simple) Tense); =4D5G<O: >5D47>64=<5. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
%>EF46?5=<5 ?5L5E>4=OE <4DLDGF>6. �D4D<G5E>>5 <7>5D465=<5 
<4DLDGF>6, D45>F4 E >4DF>=. 

9 ->E>GDE<< ?> 7>D>4G. ->E>GDE<< ?> 7>D>4G; FGD<EF<G5E><5 <=D>D<4F<>==O5 F5=FDO: 
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&GD<EF<G5E><5 
<=D>D<4F<>==O5 F5=FDO 

4>EF>?D<<5G4F5?L=>EF< < <EF>D<G5E><5 <5EF4 (74<><, <>=4EFOD<, 
46>DFO < 4D.); 7>D>4E>>= FD4=E?>DF (<5FD>, FD4<64=, 46F>5GE, F4>E<); 
D476?5G5=<O 6 7>D>45 (<G75< < 6OEF46><, D5EF<64?<, E?>DF<6=O5 
<5D>?D<OF<O, ?4D>< < 4FFD4>F<>=O). �?<E4=<5 ?D>F5EE>6 
<77>F>6?5=<O =4F<>=4?L=OE =4?<F>>6. 
'>474F5?L=O5 <5EF><<5=<O; EFD444F5?L=O= 74?>7 (=4EF>OM55 
< ?D>L54L55 6D5<O); 4DF<>?<. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�5NOE=5=<5 ?GF< 6 7>D>45; <=D>D<4F<O > 7>D>44E < <E 
4>EF>?D<<5G4F5?L=>EFOE. 
�?<E4=<5 4>EF>?D<<5G4F5?L=>EF5=. %E5<O 7>D>4>6 < FD4=E?>DF=OE 
<4DLDGF>6. 

10 �4DLDGFO ?GF5L5EF6<= �4DLDGFO ?GF5L5EF6<=: ?D>7D4<<4 >F4OE4, M>>FGD<7<; MF<>5F 6 
D47=OE EFD4=4E, GF> 67OFL 6 ?GF5L5EF6<5. �D>5?5<O 6> 6D5<O 
?GF5L5EF6<=. 
�5>?D545?5==4O D>D<4 7?47>?4 (The Infinitive) < 55 DG=>F<< 6 
?D54?>65=<<; ?D54?>7< 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�5EG645=<5 <4DLDGF>6 < ?D>7D4<< E >?<5=F4<<. 
 

11 �GF5L5EF6<5 
< 557>?4E=>EFL 

�GF5L5EF6<O < 557>?4E=>EFL: E>65FO FGD<EF4<, E6O74==O5 E> 
74>D>6L5<, ?>7>4>= < >?<<4F><, E>ED4==>EFLN 65M5=, ?>>G?>4<<, 
54>= < 4D.; E?G65O < ?D>D5EE<<, >55E?5G<64NM<5 557>?4E=>EFL 
FGD<EF>6; EFD4E>64=<5. 
�>44?L=O5 7?47>?O 3 E>65FO, D47D5L5=<O, 74?D5FO. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
%>65FO < ?D46<?4 ?>6545=<O 6 D47=OE <5EF4E (6 7>EF<=<F5, =4 
M>E>GDE<< < 4D.). �4> G?46<64FL 64?>5O < ?D5F5=7<< >?<5=F>6. 
�<EL<>-<76<=5=<5 =4 64?>5G >?<5=F4. 

6 E5<5EFD 

12 �>EF<=<FO < 4DG7<5 <5EF4 
?D>6<64=<O 

�>EF<=<FO < 4DG7<5 <5EF4 ?D>6<64=<O: F<?O 7>EF<=<F < GE?G7, 
>>F>DO5 >=< ?D54>EF46?ONF; F5=O < E><4><; D476<F<5 7>EF<=<G=>7> 
5<7=5E4. 
�DF<>?<: >?D545?5==O=, =5>?D545?5==O=, >FEGFEF6<5 4DF<>?O; 
EF5?5=< ED46=5=<O ?D<?474F5?L=OE; EFDG>FGD4 «tobegoingto» (> 
??4=4E). 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
-?5>FD>==>5 E>>5M5=<5: >?<E4=<5 7>EF<=<FO < GE?G7. �5D47FO 
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5G>?5F>6 > 7>EF<=<F4E. %<<6>?O, >5>7=4G4NM<5 GE?G7< 6 
7>EF<=<F5. 

5 E5<5EFD 

13 �<F4=<5 �<F4=<5: 6<4O D5EF>D4=>6, >4D5, 54D>6; <5=N; =4F<>=4?L=O5 >GE=<; 
6<4O ?D>4G>F>6 < <E ?D<7>F>6?5=<5. -F<>5F 74 EF>?><. 
�5?<G=O5 D>D<O 7?47>?4: ?D<G4EF<5 ?D>L54L57> 6D5<5=<. 
�EG<E?O5<O5 < =5<EG<E?O5<O5 EGM5EF6<F5?L=O5; much/many; (a) 
few/(a) little/ alot (of); too + much(many)/?D<?474F5?L=>5/(not) enough. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�4>47 5?N4. �5NOE=5=<5, <7 G57> E>EF><F 5?N4> </<?< >4> 57> 
?D<7>F>6<FL. �4?>5O 6 D5EF>D4=5. 

14 $45>F4 FGD<EF<G5E><E 
475=FEF6 

$45>F4 FGD<EF<G5E><E 475=FEF6: D45>F4 FGD>?5D4F>D4, 57> 
>5O74==>EF<. �D>4464 FGD>6 ?> ?GF56>5 (packageholidays). �EF>D<O 
E>744=<O < ?5DE?5>F<6O D476<F<O FGD<EF<G5E><E 475=FEF6. 
�7=4>><<F5?L=O5 FGDO. 
�5?<G=O5 D>D<O 7?47>?4: <=D<=<F<6, ?D<G4EF<5 =4EF>OM57> 
6D5<5=<, ?D<G4EF<5 ?D>L54L57> 6D5<5=< < >>=EFDG>F<< E =<<<; 
<>44?L=O5 7?47>?O ?D54?>?>65=<O. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�<4?>7 3 ?D>4464 ?GF56><. &5?5D>==O= D477>6>D 3 =47=4G5=<5 
6EFD5G<. 

15 $4EG5FO. 
�5=L7< 

$4EG5FO. �5=L7<: 64?NFO D47=OE EFD4= < >5<5= 64?NF; D47?<G=O5 
6<4O >??4FO; >D54<F=O5 >4DFO; 4>>G<5=FO 3 EG5F4, >6<F4=F<<, 
=4>?44=O5. %D>>< >??4FO. 
�DO<4O/>>E65==4O D5GL; ?D46<?> E>7?4E>64=<O 6D5<5=. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 

16 �G?LFGD4 =4L5= EFD4=O �G?LFGD4 =4L5= EFD4=O: ?D474=<><, <EF>D<G5E><5 ?4<OF=<><, 
FD44<F<<, F54FD. %>>F65FEF6<5 DGEE><E < 4=7?<=E><E =4764=<= 
< ?>=OF<=, E6O74==OE E =4F<>=4?L=>= >G?LFGD>= < <EF>D<5= 6 
4=7?<=E>>< O7O>5. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
�D575=F4F<O $>EE<< 6 GEF=>= D>D<5. 

17 �5DE?5>F<6O ?D>D5EE<<. �5DE?5>F<6O ?D>D5EE<<: GEFD>=EF6> =4 D45>FG; G<5=<O < =46O><, 
=5>5E>4<<O5 4?O D45>FO, ?>47>F>6>4 > E>55E54>64=<N, E>45D64=<5 
E>55E54>64=<O, ?D46<?4 ?>6545=<O =4 E>55E54>64=<< < =4?<E4=<O 
D57N<5. 
�D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O 
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(5OF>64O < ?D>D5EE<>=4?L=4O ?5>E<>4); 
?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, ED54EF6 
< ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
>E>55==>EF< ?D><7=>L5=<O, ?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 
%>55E54>64=<5 > ?D<5<5 =4 D45>FG. 

 
5.2. %FDG>FGD4 4<EF<??<=O 

4?O �$� 
7 D4745?4 

(F5<O) 
�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 

�E57> � �� 
(%) 

�$ %$ 

1 1 &GD<7<. �D>D5EE<< 6 FGD<7<5 
 

10 - 10 - - 

2 %FD4F57<O FGD<EF<G5E>>7> 5<7=5E4 
 

10 - 10 - - 

3 �<4O ?GF5L5EF6<= 12 - 12 - - 
2 4 �GF5L5EF6<5 ?> 6>74GEG 8 - 8 - 1 

5 �GF5L5EF6<O =475<=O<< 6<44<< FD4=E?>DF4 8 - 8 - 1 
6 �DG<7O 8 - 8 - 1 
7 �564G=4D>4=O5 ?GF5L5EF6<O 8 - 8 - - 
8 �5L5E>4=O5 FGDO 8 - 8 - 1 

3 9 ->E>GDE<< ?> 7>D>4G. &GD<EF<G5E><5 
<=D>D<4F<>==O5 F5=FDO 

6 - 6 - 1 

10 �4DLDGFO ?GF5L5EF6<= 6 - 6 - 1 
11 �GF5L5EF6<5 < 557>?4E=>EFL 6 - 6 - 1 
12 �>EF<=<FO < 4DG7<5 <5EF4 ?D>6<64=<O 6  6  1 

4 13 �<F4=<5 6 - 6 - - 
14 $45>F4 FGD<EF<G5E><E 475=FEF6 4  4  - 
15 $4EG5FO. 

�5=L7< 
4 - 4 - - 

16 �G?LFGD4 =4L5= EFD4=O 4 - 4 - - 
17 �5DE?5>F<6O ?D>D5EE<<. 2 - 2 - - 

 �5M<= >5N5<, G4E 116 - 116 - 8 
 
 
4?O�$� 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 
�E57> � �� 

(%) 
�$ %$ 

1 1 &GD<7<. �D>D5EE<< 6 FGD<7<5 
 

10 - 1 - 9 

2 %FD4F57<O FGD<EF<G5E>>7> 5<7=5E4 
 

10 - - - 10 

3 �<4O ?GF5L5EF6<= 10 - 1 - 9 
�D><56GF>G=4O 4FF5EF4F<O 2     

2 4 �GF5L5EF6<5 ?> 6>74GEG 8 - 1 - 7 
5 �GF5L5EF6<O =475<=O<< 6<44<< FD4=E?>DF4 8 - 1 - 7 
6 �DG<7O 8 - - - 8 
7 �564G=4D>4=O5 ?GF5L5EF6<O 8 - 1 - 7 
8 �5L5E>4=O5 FGDO 8 - 1 - 7 

�D><56GF>G=4O 4FF5EF4F<O 2     
3 9 ->E>GDE<< ?> 7>D>4G. &GD<EF<G5E><5 6 - 1 - 5 
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<=D>D<4F<>==O5 F5=FDO 
10 �4DLDGFO ?GF5L5EF6<= 6 - 1 - 5 
11 �GF5L5EF6<5 < 557>?4E=>EFL 6 - 1 - 5 
12 �>EF<=<FO < 4DG7<5 <5EF4 ?D>6<64=<O 6  1  5 

 �D><56GF>G=4O 4FF5EF4F<O 2     
4 13 �<F4=<5 6 - 1 - 5 

14 $45>F4 FGD<EF<G5E><E 475=FEF6 4  1  3 
15 $4EG5FO. 

�5=L7< 
4 - 1 - 3 

16 �G?LFGD4 =4L5= EFD4=O 4 - 1 - 3 
17 �5DE?5>F<6O ?D>D5EE<<. 2 - - - 2 

 �D><56GF>G=4O 4FF5EF4F<O 2   - - 
 �5M<= >5N5<, G4E 124 - 14 - 102 

 
5.3. �D4>F<G5E><5 74=OF<O < E5<<=4DO 

7  
D4745?4 

7 
F5<O 

&5<4 �>?<G5EF6> G4E>6 
�$� �$� 

1 
 

1 &GD<7<. �D>D5EE<< 6 FGD<7<5 10 1 
2 %FD4F57<O FGD<EF<G5E>>7> 5<7=5E4 10 - 
3 �<4O ?GF5L5EF6<= 12 1 

2 4 �GF5L5EF6<5 ?> 6>74GEG 8 1 
5 �GF5L5EF6<O =475<=O<< 6<44<< FD4=E?>DF4 8 1 
6 �DG<7O 8 - 
7 �564G=4D>4=O5 ?GF5L5EF6<O 8 1 
8 �5L5E>4=O5 FGDO 8 1 

3 9 ->E>GDE<< ?> 7>D>4G. &GD<EF<G5E><5 <=D>D<4F<>==O5 
F5=FDO 

6 1 

10 �4DLDGFO ?GF5L5EF6<= 6 1 
11 �GF5L5EF6<5 < 557>?4E=>EFL 6 1 
12 �>EF<=<FO < 4DG7<5 <5EF4 ?D>6<64=<O 6 1 

4 13 �<F4=<5 6 1 
14 $45>F4 FGD<EF<G5E><E 475=FEF6 4 1 
15 $4EG5FO. 

�5=L7< 
4 1 

16 �G?LFGD4 =4L5= EFD4=O 4 1 
17 �5DE?5>F<6O ?D>D5EE<<. 2 - 

 
5.4. �45>D4F>D=O5 D45>FO 3 =5 ?D54GE<>FD5=> 
 
5.5. �GDE>6>= ?D>5>F (>GDE>64O D45>F4, D5D5D4F, >>=FD>?L=4O D45>F4) 3>>=FD>?L=4O 

D45>F4 (3,4E5<5EFD) 
 

5.6. %4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6 (F5<) 4<EF<??<=O 3 4?O �$� =5 ?D54GE<>FD5=> 
4?O �$� 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 

1 &GD<7<. �D>D5EE<< 6 FGD<7<5 9 
2 %FD4F57<O FGD<EF<G5E>>7> 5<7=5E4 10 
3 �<4O ?GF5L5EF6<= 9 
4 �GF5L5EF6<5 ?> 6>74GEG 7 
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5 �GF5L5EF6<O =475<=O<< 6<44<< FD4=E?>DF4 7 
6 �DG<7O 8 
7 �564G=4D>4=O5 ?GF5L5EF6<O 7 
8 �5L5E>4=O5 FGDO 7 
9 ->E>GDE<< ?> 7>D>4G. &GD<EF<G5E><5 <=D>D<4F<>==O5 

F5=FDO 
5 

10 �4DLDGFO ?GF5L5EF6<= 5 
11 �GF5L5EF6<5 < 557>?4E=>EFL 5 
12 �>EF<=<FO < 4DG7<5 <5EF4 ?D>6<64=<O 5 
13 �<F4=<5 5 
14 $45>F4 FGD<EF<G5E><E 475=FEF6 3 
15 $4EG5FO. 

�5=L7< 
3 

16 �G?LFGD4 =4L5= EFD4=O 3 
17 �5DE?5>F<6O ?D>D5EE<<. 2 

 
 6. ��$�����&��,�/� &�%�������  

�D< >5GG5=<< <=>EFD4==><G O7O>G <E?>?L7GNFEO E?54GNM<5 >5D47>64F5?L=O5 
F5E=>?>7<<: 

- &5E=>?>7<O >><<G=<>4F<6=>7> >5GG5=<O 3 =4?D46?5=4 =4 D>D<<D>64=<5 >><<G=<>4F<6=>= 
>><?5F5=F=>EF< EFG45=F>6, >>F>D4O O6?O5FEO 547>6>=, =5>5E>4<<>= 4?O 444?F4F<< > E>6D5<5==O< 
GE?>6<O< <56>G?LFGD=>= >><<G=<>4F<<.  
- &5E=>?>7<O D47=>GD>6=56>7> (4<DD5D5=F<D>64==>7>)>5GG5=<O 3 ?D54?>?4745F 
>EGM5EF6?5=<5 ?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F>6 E GGUF>< <E <=4<6<4G4?L=OE 
E?>E>5=>EF5=, 6>7<>6=>EF5= < <=F5D5E>6, ?>>MDOO <E D54?<7>6O64FL E6>= F6>DG5E><= ?>F5=F<4?. 
%>744=<5 < <E?>?L7>64=<5 4<47=>EF<G5E><E F5EF>6 O6?O5FEO =5>FN5<?5<>= G4EFLN 44==>= 
F5E=>?>7<<.  
- &5E=>?>7<O <>4G?L=>7> >5GG5=<O 3 ?D54GE<4FD<645F 45?5=<5 E>45D64=<O 4<EF<??<=O =4 
4>EF4F>G=> 46F>=><=O5 D4745?O (<>4G?<), <=F57D<D>64==O5 6 >5M<= >GDE.  
- �=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<< (��&) - D4EL<DONF D4<>< 
>5D47>64F5?L=>7> ?D>F5EE4, ?>6OL4O 57> ?D4>F<G5E>GN =4?D46?5==>EFL, E?>E>5EF6GNF 
<=F5=E<D<>4F<< E4<>EF>OF5?L=>= D45>FO GG4M<EEO < ?>6OL5=<N ?>7=464F5?L=>= 4>F<6=>EF<. � 
D4<>4E ��& 6O45?ONFEO 2 6<44 F5E=>?>7<=:  
- &5E=>?>7<O <E?>?L7>64=<O >><?LNF5D=OE ?D>7D4<< 3 ?>76>?O5F MDD5>F<6=> 4>?>?=<FL 
?D>F5EE >5GG5=<O O7O>G =4 6E5E GD>6=OE. �G?LF<<54<==O5 ?D>7D4<<O ?D54=47=4G5=O >4> 4?O 
4G4<F>D=>=, F4> < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < =4?D46?5=O =4 D476<F<5 7D4<<4F<G5E><E < 
?5>E<G5E><E =46O>>6.  
- �=F5D=5F-F5E=>?>7<< 3 ?D54>EF46?ONF L<D>><5 6>7<>6=>EF< 4?O ?><E>4 <=D>D<4F<<, 
D47D45>F>< <564G=4D>4=OE =4GG=OE ?D>5>F>6, 6545=<O =4GG=OE <EE?54>64=<=.  
- &5E=>?>7<O <=4<6<4G4?<74F<< >5GG5=<O 3 ?><>745F D54?<7>6O64FL ?<G=>EF=>-
>D<5=F<D>64==O= ?>4E>4, GG<FO64O <=4<6<4G4?L=O5 >E>55==>EF< < ?>FD55=>EF< GG4M<EEO.  
- &5E=>?>7<O F5EF<D>64=<O 3 <E?>?L7G5FEO 4?O >>=FD>?O GD>6=O GE6>5=<O ?5>E<G5E><E, 
7D4<<4F<G5E><E 7=4=<= 6 D4<>4E <>4G?O =4 >?D545?U==>< MF4?5 >5GG5=<O. �EGM5EF6?5=<5 
>>=FD>?O E <E?>?L7>64=<5< F5E=>?>7<< F5EF<D>64=<O E>>F65FEF6G5F FD55>64=<O< 6E5E 
<564G=4D>4=OE M>74<5=>6 ?> <=>EFD4==><G O7O>G. �D><5 F>7>, 44==4O F5E=>?>7<O ?>76>?O5F 
?D5?>4464F5?N 6OO6<FL < E<EF5<4F<7<D>64FL 4E?5>FO, FD55GNM<5 4>?>?=<F5?L=>= ?D>D45>F><.  
- �D>5>F=4O F5E=>?>7<O 3 >D<5=F<D>64=4 =4 <>45?<D>64=<5 E>F<4?L=>7> 674<<>45=EF6<O 
GG4M<EEO E F5?LN D5L5=<O 7444G<, >>F>D4O >?D545?O5FEO 6 D4<>4E ?D>D5EE<>=4?L=>= ?>47>F>6>< 
EFG45=F>6, 6O45?OO FG <?< <=GN ?D54<5F=GN >5?4EFL. �E?>?L7>64=<5 ?D>5>F=>= F5E=>?>7<< 
E?>E>5EF6G5F D54?<74F<< <564<EF<??<=4D=>7> E4D4>F5D4 >><?5F5=F<=, D>D<<DGNM<EEO 6 
?D>F5EE5 >5GG5=<O 4=7?<=E>><G O7O>G.  
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- &5E=>?>7<O >5GG5=<O 6 E>FDG4=<G5EF65 3 D54?<7G5F <45N 674<<=>7> >5GG5=<O, >EGM5EF6?OO 
>4> <=4<6<4G4?L=GN, F4> < >>??5>F<6=GN >F65FEF65==>EFL 74 D5L5=<5 GG55=OE 7444G.  
- �7D>64O F5E=>?>7<O 3 ?>76>?O5F D476<64FL =46O>< D4EE<>FD5=<O DO44 6>7<>6=OE E?>E>5>6 
D5L5=<O ?D>5?5<, 4>F<6<7<DGO <OL?5=<5 EFG45=F>6 < D4E>DO64O ?<G=>EF=O= ?>F5=F<4? >464>7> 
GG4M57>EO.  
- &5E=>?>7<O D476<F<O >D<F<G5E>>7> <OL?5=<O 3 E?>E>5EF6G5F D>D<<D>64=<N 
D47=>EF>D>==5= ?<G=>EF<, E?>E>5=>= >D<F<G5E>< >F=>E<FLEO > <=D>D<4F<<, G<5=<N >F5<D4FL 
<=D>D<4F<N 4?O D5L5=<O ?>EF46?5==>= 7444G<.  
- 4<EF4=F<>==O5 F5E=>?>7<< <E?>?L7GNFEO (?D< =5>5E>4<<>EF<). 

 
�=F5D4>F<6=O5 >5D47>64F5?L=O5 F5E=>?>7<<, <E?>?L7G5<O5 6 4G4<F>D=OE 74=OF<OE 

7 D4745?4 
(F5<O) 

�<4 
74=OF<O (�, 
��, %, �$) 

�E?>?L7G5<O5 <=F5D4>F<6=O5 >5D47>64F5?L=O5 
F5E=>?>7<< 

�>?<G5EF6> G4E>6 

1 �� $475>D >>=>D5F=OE E<FG4F<=: �=F5D6LN E D45>F=<>>< 
ED5DO FGD<7<4: 6EFD5G4, 7=4>><EF6>, ?D<65FEF6<O, 
5?47>44D=>EF<, ?D>M4=<5, D>D<O >5D4M5=<O. 

2 

2 �� $475>D >>=>D5F=OE E<FG4F<=: �4?<E4=<5 D5>?4<O 
FGD>6, 7>EF<=<F, GE?G7.  

2 

3 �� $>?564O<7D4: �4>47 FGD<EF<G5E>>= ?>574>< ?> F5?5D>=G, 
<=D>D<4F<O > ?GF5L5EF6<OE. &5?5D>==O5 D477>6>DO: >4> 
>F65G4FL =4 F5?5D>==O5 76>=><, ?D46<?4 6545=<O F5?5D>==OE 
D477>6>D>6. 

2 

4 �� $>?564O<7D4: �4>47 46<45<?5F4. �D>=<D>64=<5 <5EF =4 

E4<>?5F. 
2 

6 �� $>?564O<7D4: �7<5=5=<5 ??4=>6, >F<5=4 5D>=<. 
�<EL<>-?>4F65D645=<5 5D>=<, >F>47 < <7<5=5=<5 ??4=>6, 
>5NOE=5=<5 ?D<G<=; >5NOE=5=<5 >?<5=FG GE?>6<= 57> >F>474 
<?< <7<5=5=<= 57> ??4=>6. 

2 

8 �� $475>D >>=>D5F=OE E<FG4F<=: %>EF46?5=<5 
?5L5E>4=OE <4DLDGF>6. �D4D<G5E>>5 <7>5D465=<5 
<4DLDGF>6, D45>F4 E >4DF>=. 

2 

9 �� $>?56O5<7DO: �5NOE=5=<5 ?GF< 6 7>D>45; <=D>D<4F<O > 
7>D>44E < <E 4>EF>?D<<5G4F5?L=>EFOE. 

2 

10 �� $475>D >>=>D5F=OE E<FG4F<=: �5EG645=<5 <4DLDGF>6 
< ?D>7D4<< E >?<5=F4<<. 

2 

14 �� $475>D >>=>D5F=OE E<FG4F<= 
�<4?>7 3 ?D>4464 ?GF56><. &5?5D>==O= D477>6>D 3 
=47=4G5=<5 6EFD5G<. 

2 

17 �� $475>D>>=>D5F=OEE<FG4F<=: Interview. %>55E54>64=<5 
> ?D<5<5 =4 D45>FG. 

4 

 
7. �&���'�/� %$��%&�� ��/ &��'-��� ���&$��/ '%�������%&� � 

�$����'&�'��� �&&�%&�&�� 
 

���&$��, � �&���� $��'�,&�&�� �%�����/  ''����� ��%&�����/ 
$57G?LF4FO >5GG5=<O �D<F5D<< >F5=>< �5F>4O >F5=>< 

�5D5G5=L 7=4=<=, >E64<645<OE 6 
D4<>4E 4<EF<??<=O 
?D46<?4 ?>EFD>5=<O ?D>EFOE 
< E?>6=OE ?D54?>65=<= =4 
?D>D5EE<>=4?L=O5 F5<O 
>E=>6=O5 >5M5G?>FD55<F5?L=O5 
7?47>?O (5OF>64O 

�45>64F=>5 <E?>?L7>64=<5 
?D>D5EE<>=4?L=>= 
F5D<<=>?>7<< =4 
<=>EFD4==>< O7O>5; 
�?445=<5 ?5>E<G5E><< 
< 7D4<<4F<G5E><< <<=<<G<>< 
�D46<?L=>5 ?>EFD>5=<5 

&5>GM<= >>=FD>?L: 
- F5EF<D>64=<5; 
- GEF=O= >?D>E; 
->F5=>4 ?>47>F>6?5==OE  
>5GG4NM<<<EO 
?D575=F4F<=. 
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< ?D>D5EE<>=4?L=4O ?5>E<>4) 
?5>E<G5E><= <<=<<G<, 
>F=>EOM<=EO > >?<E4=<N 
?D54<5F>6, ED54EF6 < ?D>F5EE>6 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
>E>55==>EF< ?D><7=>L5=<O 
?D46<?4 GF5=<O F5>EF>6 
?D>D5EE<>=4?L=>= 
=4?D46?5==>EF< 

?D>EFOE ?D54?>65=<=, 
4<4?>7>6 6 GF65D4<F5?L=>= 
< 6>?D>E<F5?L=>= D>D<5; 
�>7<G=>5 ?>EFD>5=<5 
4<4?>7<G5E>>7> >5M5=<O 6 
E>>F65FEF6<< E 
>><<G=<>4F<6=>= 7444G5=; 
�5<>=EFD4F<O 
 G<5=<O D5G56>7> 
674<<>45=EF6<O E ?4DF=UD><: 
E?>E>5=>EFL =4G4FL, 
?>445D64FL < 74>>=G<FL 
D477>6>D; 
%>>F65FEF6<5 ?5>E<G5E><E 
54<=<F < 7D4<<4F<G5E><E 
EFDG>FGD 

�D><56GF>G=O= >>=FD>?L: 
- >>=FD>?L=4O D45>F4 
- 6>?D>EO 4?O GEF=>7> 
>?D>E4 
- ?<EL<5==>5/GEF=>5 
6O?>?=5=<5?D4>F<G5E><E 
7444=<= 
 

�5D5G5=L G<5=<=, >E64<645<OE 6 
D4<>4E 4<EF<??<=O: 
?>=<<4FL >5M<= E<OE? G5F>> 
?D><7=5E5==OE 6OE>47O64=<= =4 
<765EF=O5 F5<O 
(?D>D5EE<>=4?L=O5 < 5OF>6O5), 
?>=<<4FL F5>EFO =4 547>6O5 
?D>D5EE<>=4?L=O5 F5<O 
GG4EF6>64FL 6 4<4?>74E =4 
7=4>><O5 >5M<5 
< ?D>D5EE<>=4?L=O5 F5<O 
EFD><FL ?D>EFO5 6OE>47O64=<O > 
E555 < > E6>5= ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< >D4F>> 
>5>E=>6O64FL < >5NOE=<FL E6>< 
45=EF6<O (F5>GM<5 
< ??4=<DG5<O5) ?<E4FL ?D>EFO5 
E6O7=O5 E>>5M5=<O =4 7=4>><O5 
<?< <=F5D5EGNM<5 
?D>D5EE<>=4?L=O5 F5<O 
 
 �<EF<??<=4 ?D54?>?4745F 7444=<O 4?O F5>GM57> < ?D><56GF>G=>7> >>=FD>?O ($�% ?> 
4<EF<??<=5 «�=>EFD4==O= O7O>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<»). 
 �D><56GF>G=O<< D>D<4<< >>=FD>?O O6?ONFEO >>=FD>?L=4O D45>F4 (3, 4E5<5EFD) ?> 
?5>E<G5E>><G < 7D4<<4F<G5E>><G <4F5D<4?G, >7D4=<G5==><G F5<4F<>>= < ?D>5?5<4F<>>= 
<7GG5==OE D4745?>6 4<EF<??<=O, 74G5F (5 E5<5EFD) < 4<DD5D5=F<D>64==O= 74G5F (6E5<5EFD) 74 
65EL >GDE >5GG5=<O, 745 6OEF46?O5FEO EG<<4D=4O >F5=>4, GG<FO64O: 6?445=<5 4>F<6=>= ?5>E<>>= 
<7GG5==OE F5<; 6?445=<5 7D4<<4F<G5E><<< =46O>4<< 6 ?D545?4E ?D>7D4<<O,  4?O 44?L=5=L5= 
GG55=>= 45OF5?L=>EF<; G<5=<5 6OE>47O64FLEO ?> F5<4< E <E?>?L7>64=<5< 7D4<<4F<G5E><E < 
?5>E<G5E><E =46O>>6, ?D<>5D5F5==OE 6 F5G5=<5 <7GG5=<O 4<EF<??<=O. 
 �D<F5D<< >F5=>< 6O?>?=5=<O >>=FD>?L=>= D45>FO (3, 4E5<5EFD): 
 «5 54??>6» - ?D4>F<G5E>< =5F =4DGL5=<= 6 <E?>?L7>64=<< ?5>E<><, 7D4<<4F<G5E><5 EFDG>FGDO 
<E?>?L7>64=O ?D46<?L=> < E>>F65FEF6GNF ?>EF46?5==>= 7444G5, >DD>7D4D<G5E><5 >L<5>< 
>FEGFEF6GNF. 
 «4 54??4» - <E?>?L7G5<O= E?>64D=O= 74?4E E>>F65FEF6G5F ?>EF46?5==>= 7444G5, >4=4>> 
6EFD5G4NFEO >F45?L=O5 =5F>G=>EF< 6 G?>FD55?5=<< E?>6, <<55FEO DO4 7D4<<4F<G5E><E >L<5>>, =5 
74FDG4=ONM<E ?>=<<4=<5 F5>EF4, >DD>7D4D<G5E><5 >L<5>< ?D4>F<G5E>< >FEGFEF6GNF. 
 «3 54??4» - G4EF> 6EFD5G4NFEO =4DGL5=<O 6 <E?>?L7>64=<< ?5>E<>< < 7D4<<4F<G5E><E 
>>=EFDG>F<=, >>F>DO5 74FDG4=ONF ?>=<<4=<5 F5>EF4, <<55FEO DO4 >DD>7D4D<G5E><E </<?< 
?G=>FG4F<>==OE >L<5>>. 
 «2 54??4» - E?>64D=O= 74?4E >D4==5 >7D4=<G5=, 7D4<<4F<G5E><5 ?D46<?4 < ?D46<?4 >DD>7D4D<< 
< ?G=>FG4F<< =5 E>5?N44NFEO. 
 �D<F5D<< >F5=>< <F>7>6>= D>D<O >>=FD>?O (4<DD5D5=F<D>64==O= 74G5F) (6 E5<5EFD): 
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 «5 54??>6» - E6>5>4=>5 6?445=<5 EFG45=F>< GEF=>= < ?<EL<5==>= D5F5?F<6=>= < ?D>4G>F<6=>= 
<=>O7OG=>= D5GLN, 6 ?D>F5EE5 >>F>D>= EFG45=F =5 4>?GE>45F E5DL57=OE 7D4<<4F<G5E><E, 
?5>E<G5E><E < EF<?<EF<G5E><E >L<5>>, 4 F4>65 >?5D<DG5F ?>?=O< =45>D>< ?5>E<>>-
7D4<<4F<G5E><E < >G?LFGD=>-?D47<4F<G5E><E ED54EF6 6 ?D545?4E <7GG5==OE F5<. 
 «4 54??4» - 4>EF4F>G=> 6OE>>4O EF5?5=L 6?445=<O 6E5<< D>D<4<< GEF=>= < ?<EL<5==>= 
<=>O7OG=>= D5G<, 6 ?D>F5EE5 >>F>D>= EFG45=F 4>?GE>45F =55>?LL>5 >>?<G5EF6> ?5>E<G5E><E, 
7D4<<4F<G5E><E, EF<?<EF<G5E><E >L<5>>, >4=4>> >L<5><, >4> ?D46<?>, =5 ?D<6>4OF > E5>O< 6 
?D>F5EE5 >5M5=<O.  
 «3 54??4» - ?>ED54EF65==>5 6?445=<5 5>?LL<=EF6>< G<5=<= <=>O7OG=>= D5G<, =4?<G<5 
7=4G<F5?L=>7> >>?<G5EF64 >L<5>>, >>F>DO5 ?5D<>4<G5E>< <5L4NF GE?5L=>= >><<G=<>4F<<,  
 «2 54??4» - F4>>5 E>EF>O=<5 >E=>6=OE G<5=<= <=>O7OG=>= D5G56>= 45OF5?L=>EF< EFG45=F4, 
>>F>D>5 =5 ?>76>?O5F 5<G >EGM5EF6?OFL >><<G=<>4F<N =4 <=>EFD4==>< O7O>5 6 =4<5>?55 
F<?<G=OE E<FG4F<OE ?D>D5EE<>=4?L=>7> </<?< 5OF>6>7> >5M5=<O. 
 �D<F5D<< >F5=>< <F>7>6>= D>D<O >>=FD>?O (74G5F) (5E5<5EFD): 
 �F<5F>4 «74GF5=>» E>>F65FEF6G5F 6E5< ?5D5G<E?5==O< 6OL5 GE?5L=O< 4<DD5D5=F<D>64==O< 
>F<5F>4< >F «G4>6?5F6>D<F5?L=>» 4> «>F?<G=>». �4 ?D><56GF>G=OE MF4?4E >>=FD>?O >5M4O 
>F<5F>4 «=5 74GF5=>» 6OEF46?O5FEO ?D< =4?<G<< G EFG45=F4 45D<F<F4 <=>O7OG=OE D5G56OE 
G<5=<= ?> 46G< <?< 5>?LL5<G G<E?G 6OL5=4764==OE >D<F5D<56. 

 
7.1. &<?>6O5 7444=<O 4?O F5>GM57> >>=FD>?O. 

�5D5G5=L F<?>6OE >>=FD>?L=OE 6>?D>E>6 4?O GEF=>7> >?D>E4  
1. &GD<7<. �D>D5EE<< 6 FGD<7<5 

2. %FD4F57<O FGD<EF<G5E>>7> 5<7=5E4 

3. �<4O ?GF5L5EF6<= 

 
&<?>6O5 7444=<O 6 F5EF>6>= D>D<5 

�EF46LF5 4DF<>?L, 745 =5>5E>4<<>. 

1. This is ... book. Put ... book on the table. 
2. Nick has ... big black dog.... dog is old. Its name is ... Rex. 
3. Is there ... pen on the desk? 
4. This is ... shelf. ... shelf is on ... wall. 
5. This is ... fish. It is ... big fresh fish. 
6. My sister's name is ... Liza. Liza is ... little girl. She is ... six. 
7. This is kitchen. ... kitchen is small. 
8. Does she like ... butter? 
9. There are ... benches. ... benches are in ... park. 

10. Idon'tlike ... apples. 

�D5>5D47G=F5 E?54GNM<5 ?D54?>65=<O 6 D>D<G <=>65EF65==>7> G<E?4. 

1. This is my foot. 
2. That lady doesn't play the piano. 
3. This child is watching the leaf falling on the grass. 
4. Is this mountain high? 4 Yes, it is. 
5. There is a knife on the kitchen-table. 
6. This bird is in that tree. 
7. That wolf has eaten a sheep. 
8. There was a desert here. 
9. Is there a calendar in this room? 

10. That sandwich is not on that plate. 

$4E>D>=F5 E>>5><, G?>FD55?OO =5>5E>4<<GN EF5?5=L ED46=5=<O ?D<?474F5?L=OE. 

1. This is ... in our city, (big building) 
2. She is ... we have ever met. (strange person) 
3. The road become ... after some miles, (narrow) 
4. Peter is ... of them all. (old) 
5. It was ... time of my life, (bad) 
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6. The weather is much ... than yesterday, (good) 
7. Ann was a bit... she usually is. (cheerful) 
8. Going by train takes twice ... going by plain, (long) 
9. He thinks English spelling is ... than Russian, (difficult) 
10. This test was ... of all. (easy) 
11. She works ... than her sisters (hard). 

$4E>D>=F5 E>>5><, G?>FD55?OO 7?47>?O 6 D>D<5 PresentSimple. 

1. I (not to walk) to work every morning. 
2. She (to wash) her car once a week. 
3. We (to spend) our holidays in the country. 
4. He (not to hope) to go there. 
5. She (to go) to the theatre twice a month. 
6. Mary (not to live) near the station. 
7. You (to take) your dog for a work? 
8. She always (to invite) her friends to her birthday party. 
9. He (to drink) coffee every morning. 

10. Her brother (to study) in London. 
11. I (to go shopping) every day. 
$4E>D>=F5E>>5><, G?>FD55?OO7?47>?O6D>D<5Present Simple <?<6Present Continuous. 

1. She (to read) at the moment. 
2. You (to go) to work by ear? 
3. He (to drink) coffee in the morning. 
4. They (to have) breakfast now. 
5. I (not to watch) television every night, 
6. Look! She (to dance). 
7. He (to have) breakfast every morning. 
8. You (to listen) to the radio now? 
9. We (to look) for our things now. 

10. He (not to watch) television at the moment. 
11. I (not to get up) at seven o'clock every morning. 
12. Don't (to make) so much noise: mother (to sleep). 
13. She (not to drink) coffee in the morning. 
14. Peter (to talk) to Susan at the moment. 
15. Where (to be) your mother? - She (to cook) dinner now. 
16. Listen! They (to discuss) an interesting problem. 
17. She (to listen) to the radio in her room now? 
18. He (not to ride) a bicycle every evening. 
19. Jane (to work) in Paris at the moment? 

&<?>6O5 ?D4>F<G5E><5  7444=<O 

�5D5654<F5 =4 4=7?<=E><= O7O>, G?>FD55?OO 7?47>? tobe6  Present, Past<?< FutureSimple. 

1. / E5=G4E 4><4. 
2. �G5D4 >= 5O? =4 D45>F5. 
3. �46FD4 55 =5 5G45F 4><4. 
4. �5F< 6 ?4D>5. �=< =5 6 L>>?5. 
5. �= =5 5O? 6G5D4 6 L>>?5. �= 5O? 4><4. 
6. �45 >=4? �=4 =4 D45>F5. 
7. � ?D>L?>< 7>4G O 5O? GG5=<>><. � MF>< 7>4G O EFG45=F. 
8. �45 6O 5O?<? �O 5O?< 6 F54FD5. 
9. �7> >F5F 4>>F>D. �= F>65 5G45F 4>>F>D><? 

10. �46FD4 45F< 5G4GF 6> 46>D5. 
11. �45 6O? �O =5 4><4? 

�D>G<F4=F5 <=D>D<4F<N 4?O EFG45=F>6, F>?L>> GF> ?D<5E46L<E 6 ?5F=NN L>>?G.  
'EF4=>6<F5 E>>F65FEF6<5 <564G 747>?>6>4<< A-F < ?D>=G<5D>64==O<< 4574F4<< F5>EF4 1-5.  
�E?>?L7G=F5 >464GN 5G>6G F>?L>> >4<= D47. � 7444=<<5EFL>4<=?<L=<=747>?>6>>. 
A. There are lots of achievements to proud of. 
B. Different actions were taken for one reason. 
C. A lot of time was lost in protecting nature. 
D. Nature protection has to struggle against industries. 
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E. The two aimed to help wildlife. 
F. There was no time to lose. 
1. More than a hundred years ago, two men who barely knew each other climbed up into the Sierra Nevada wilderness and 
spent four days exploring mountains and tracking wildlife. They saw elk and black bear, wild iris and larkspur. They drank 
from streams, slept on beds of pine needles, and awoke from a night camping on Glacier point to find four feet of sunrise 
snow. When they came down from the mountains, President Theodor Roosevelt and Sierra Club founder John Muir were good 
friends. Over their parting handshake they made a pact: They would work together to save America9s wilderness. And they 
did. 
2. The United States had already lost most of its buffalo, tall grass prairies, Eastern old-growth forests, and grizzly bears. Bold, 
immediate action was called for4and taken. Between 1901 and 1909, President Roosevelt and Congress created five national 
parks, established more than fifty wildlife reserves, and set aside 100 million acres of forest for protection. During the decade, 
the Sierra Club grew from a hiking club to a political force. 
3. John Muir and the growing membership of his Sierra Club conducted guided tours to wild areas to win allies and public 
support for the preservation efforts, wrote letters and articles in newspapers, pioneered the use of public education, political 
accountability and lobbing, and legislation to protect the health of our environment. It was the Sierra Club that fled lawsuits 
to stop pollution in Lake Superior and developments in Everglades, and created books, films, photographs, and advertising for 
wilderness and wildlife protection. 
4. Since its founding in 1892, the Sierra Club has also helped bring about the establishment of Yosemite and more than a score 
of other national parks; an end to government plans to dam the Colorado River and flood the Grand Canyon; the enactment 
of the Clean Water Act, Clean Air Act, and Endangered Species Act; the granting of national movement status for Utah9s 
Grand Staircase 4 Escalante, the giant sequoias of California9s Serra Nevada and many more national treasures in different 
parts of the country, including Alaska. 
5. More than a century of national and local conservation campaigns has taught the Sierra Club that no place4despite its 
official designation, environmental value, or storied past4is ever completely protected. The oil companies, the logging 
industry, and developers never give up. And as the nation grows, the pressures to drill, log, and build in special places will also 
grow. 

7.2. &<?>6O5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< (74G5F) 
&<?>6O5 >>=FD>?L=O5 6>?D>EO > 74G5FG 

1. �GF5L5EF6<5 ?> 6>74GEG 
2. �GF5L5EF6<O =475<=O<< 6<44<< FD4=E?>DF4 
3. �DG<7O 
4. �564G=4D>4=O5 ?GF5L5EF6<O 
5. &GD<7<. �D>D5EE<< 6 FGD<7<5 

6. %FD4F57<O FGD<EF<G5E>>7> 5<7=5E4 

7. �<4O ?GF5L5EF6<= 

&<?>6O5 7444=<O 6 F5EF>6>= D>D<5 4?O ?D>6545=<O 74G5F4 

�EF46LF5 4DF<>?L, 745 =5>5E>4<<>. 

1.1 am ... doctor. I work at... hospital.... hospital is large. 
2. You have two ... books. Give me one ... book, please. 
3. Are you ... pupil?  No, I am ... student. 
4. Is he ... good pupil? 
5. My friend bought ... interesting ... book last week. 
6. He has ... daughter, but he has no ... son. 
7. My father is sitting at ... table. He is writing ... letter. ... letter is long. 
8. His brother has ... cat. ... cat is old and ... fat. 
9. It is very dark in ... street. 

10. I am at ... home. I am reading ... interesting book. 

�EF46LF5 4DF<>?L, 745 =5>5E>4<<>. 

1. I can see many ... people in ... street. 
2. Can you see ... car? 
3. She is ... manager. She is at... work. She works at... office. 
4. Do you see these ... flowers? What colour are ... flowers? 
5. There is ... big brown table in ... middle of our ...room. 
6. There are two kittens in ... box. ... kittens are black. 
7. Do you see ... boy in ... street? He is ... pupil of our ... school. He is ... good pupil. 
8. My sister is ... student. She studies at ... institute. She is ... good student and ... good sister. 



17 
 

9. This is ... wolf. ... wolf is very hungry.  
10. There is ... carpet on ... floor. ... carpet is new. 

$4E>D>=F5 E>>5><, G?>FD55?OO =5>5E>4<<GN EF5?5=L ED46=5=<O ?D<?474F5?L=OE. 

10. To fly is (quick) than to by car. 
11. Whose child is (old) than my? 
12. This example is (simple) of all. 
13. He isn't so (stupid) as your brother is. 
14. Which country is (beautiful)? 
15. In this town the streets are (narrow) than in my. 
16. Your cat is (fat) I've ever seen. 
17. Is August (hot) month of the year? 
18. She is (attentive) child in her class. 
19. My (old) sister is two years (old) than I. 
20. What's (near) station? 

$4E>D>=F5 E>>5><, G?>FD55?OO 7?47>?O 6 D>D<5 PresentSimple<?< 6 PresentContinuous. 

Hi, Susan! 
This Island (to be) great! We (to have) a wonderful time here. We (to swim) every day. The weather here (to be) always 

fine. 
I (to write) this letter in a bar on the beach. I (to drink) juice now. Mary (to learn) to swim at the moment. I (not to see) her 
now. But I (to hope) she (to be) all right. I (to be) happy. 

See you soon. Love to all. 
�EF46LF57?47>?to be 6D>D<5Present, Past <?<Future Simple. 

1. Where ... your brother now? - He ... in his room. 
2. ... she ... at work tomorrow? - Yes, she ... . 
3. ... you at school yesterday? - Yes, I ... . 
4. My sister ... at school now. She ... not at home. 
5. ... you ... a teacher in some years? 
6. My pens ... not on the table. Where ... they? 
7. His brother ... a child. He ... 7. 
8. We ... pupils last year, but now we ... students. 
9. My aunt ... in Paris now. 

10. Where ... your grandmother? - She ... in the Richmond. 
11. When ... you at work yesterday? -I... there at 8 o'clock. 
12. My brother ... not ill now. 
13. I ... not in Kyiv now. I ... in London.  
14.  All my family ... at home tomorrow. 
15. When he ... young, he ... a pilot. 

&<?>6O5 ?D4>F<G5E><5 7444=<O > 74G5FG 
1. �D>E<>FD<F5 F5>EF < 6O55D<F5 >E=>6=O5 ?D54?>65=<O 

WHERE EAST MEETS WEST 
A visit to the East Mediterranean is just the thing to blow the sorrows away, and Greece is the place to go for sun and 

statues. And where better to start than the Acropolis, with its famous Parthenon and the Temple of the Gods 4 glories of the 
ancient world. 

Orange trees grow on the streets of Athens today, and the National Guard paces the pavement outside the President9s 
Palace. 

The Greek love of theatre goes way back. 
<A button dropped on to the stage can be heard in the uppermost row,= Tassos, our Greek guide, boasted, as we admired the 
magnificent amphitheatre at Epidaurus. The Temple of the Healing God was nearby. <Medicine was practised here thousands 
of years ago,= Tassos smiled. <Many medical terms come from Greek.= 

Olive groves sweep across the green slopes of the Pelopponese, and poplars stand sentinel over roads where you can 
still see mules and donkeys. History and legend merge in Greek mythology 4 and what stories they are! 
<The Trojans stole fair Helen, wife of King Agamemnon9s brother,= Tassos smiled knowingly. <A Greek fleet sailed out to 
bring her back.= Today, Agamemnon9s Palace at Mycenae is scattered across a rocky hill that was once heart of a great 
civilization. 

Mystras was our steepest climb. <I9ll buy the postcard instead,= one of the tourist joked when he saw the rocky path. 
Poppies grew on crumbling walls that were known as the <Florence of the East=. Crusader knights stayed in the castle fortress 
on their way to the Holy Land, and knelt to pray in dimly lit churches. It was breathtakingly beautiful. 

We were looking forward to seeing the Sacred Grove of Olympia, and our guide was waiting by the grassy 
gymnasium where competitors trained before the events. 
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<The first Olympic Games were held in 776 BC. They prepared the young men for war,= Tassos said firmly. <Fighting was 
very physical in those days and athletes took part to honour Zeus. They were naked 4 the Greeks believed the body was 
beautiful. There were no sponsors and no money was involved. The winner's only reward was a simple wreath from the sacred 
olive tree.= 

The setting was perfect, <This is where the sacred flame is lit, before being carried to the host city,= Tassos declared 
beside the Temple of Hera. 
<It didn9t have far to travel in 2004,= the guide gave a little smile. <That year the Olympiad returned to Greece.= 

St. Andrew9s Church in Patras was impressive. 
<The saint was crucified here on an X-shaped cross, after his return from preaching Christianity in Scotland,= Tassos explained 
when we stopped in the open square. <Greek children are often named after saints, and namedays are celebrated more than 
birthdays.= 

A ferry took five of us over the gulf of Corinth before we journeyed on to the slopes of Delphi. <Statesmen and kings 
consulted the Delphic oracle,= Tassos told us along the Sacred Way wrong 4 they could always be taken two ways!= 
We came to the Mind Room in the Temple of Apollo where the priestess would sit above sulphur fumes seeping through the 
rock, and chew burnt bay leaves before delivering her prophecy in a trance-like state. Out of sight, a priest 
would write the oracle s words down and present the tablet to the pilgrims, who believed they had communicated with the 
gods. 
<And what do you feel about Delphi?" I asked Tassos later. 
<Something special happened on this wild mountainside,= the guide answered thoughtfully. <People sense it. Here things are 
still hidden.=  

We flew to Istanbul next morning, hoping to see everything in three days! 
<Istanbul is the only city that spans two continents,= Aran, our Turkish guide, greeted us at the airport. <We go first to the Blue 
Mosque,= he announced. 
Shoes were taken off and head scarves put on as we entered the famous mosque and gasped at the millions of decorated blue 
tiles. <We believe you feel God inside,= Aran9s smile was disarming. <Now we are going to the Grand Bazaar.= Shops and 
stalls 4 all bursting with goods 4 were squeezed in everywhere. Precious gems and glass jewels, leather jackets and woolen 
shawls, inlaid boxes and brassware 4 it was all here for the buying. Could we ever find your way out? Carpets were unrolled 
and Turkish tea served. No shopper goes thirsty in Istanbul. Show' the slightest interest in a purchase and a cuppa(cup of tea) 
appears from nowhere. 

After lunch we were driven to the Summer Palace. <Welcome to Asia,= the banner greeted us on the Bosporus bridge. 
Aran looked at the banner. <People live in one continent and go to work in another!= he laughed. 
The Summer Palace of the Ottoman Sultans had a faded elegance with its French furniture and magnificent Bohemian glass 
chandeliers. 
<Harem means forbidden place,= Aran explained, opening a pair of massive doors. <Only the Sultan9s family would have been 
allowed behind them.= 
Three ladies were rolling dough for savory pancakes when we stopped at a viewpoint on the way back to Europe! <Try one,= 
Aran said, 
leading the way with a pepper, cheese and potato delicacy. <It9s a real Turkish snack washed down with a yoghurt drink.= 

There was just time for a last walk to the spice market by the Bosporus, where fishermen were cooking their catch on 
the boats 4 and dried apricots cost practically nothing on the stall opposite. They were irresistible. 
It was the perfect way to end a holiday. 

2. Why did the tourists choose Greece as the place to visit? How many of them were on the journey? 
3. In what city did they begin their journey? 
4. What places did the tourists visit in the capital of Greece? 
5. Where and what did they eat? Why was in your opinion their waiter so talkative? What did he tell the tourists? 
6. What was their Greek guide9s name? Why did he speak about the theatre and the medicine at Epidaurus? Where is 

Epidaurus situated? 
7. What is Pelopponese? 
8. What myth was told to the tourists? 
9. What information does the text offer about Mystras? 
10. What does the text say about the Sacred Grove of Olympia and the first Olympic Games? 
11. What is the traditional way of giving names to Greek children? 
12. Why did kings and other important people of Greece consult the Delphic oracle? Why were her answers never 

wrong? 
13. What information about the Delphic oracle did you get from the text? 
14. How much time were the tourists going to spend in Turkey? What means of travelling did they use to get there? 
15. What places did they visit in Istanbul? 
16. What is special about shopping in Turkey? 
17. What does the word harem mean? 
18. Why do you think the title of the text is <Where East Meets West=? 
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�?D545?<F5 >E=>6=GN <45N F5>EF4 

�E?>?L7G=F5 F5>EF, GF>5O ?>4F65D4<FL E6>N F>G>G 7D5=<O 

�D>G<F4=F5 F5>EF < >F65FLF5 =4 6>?D>EO > =5<G. 

�5D544=F5 >E=>6=GN <45N F5>EF4 

�D<F5D<< >F5=>< ?D><56GF>G=>= 4FF5EF4F<< (74G5F) 
�F5=>4 %4D4>F5D<EF<>< >F65F4 EFG45=F4 

�4GF5=> �F5=>4 «74GF5=>» 6OEF46?O5FEO, 5E?< EFG45=F GE?5L=> >F65F<? =4 6>?D>EO ?D5?>4464F5?O 6> 
6D5<O 55E54O =4 F5<O, E6O74==O5 E <7GG45<>= 4<EF<??<=>=, 65D=> >F65F<? =4 F5EFO, 
?D46<?L=> D5L<? ?D4>F<G5E>GN 7444GG: >D4F>> <7?>6<? 55 E>45D64=<5. � E?GG45 
64D<4F<6=>EF< D5L5=<O 7444G< >5>E=>64? 6E5 6>7<>6=O5 64D<4=FO D5L5=<O.     

�5 74GF5=> �F5=>4 «=5 74GF5=>» 6OEF46?O5FEO, 5E?< EFG45=F =5 6O?>?=<? ?D4>F<G5E>GN 7444GG, =5 
D5L<? F5EFO, =5 >F65F<? =4 6>?D>EO ?D5?>4464F5?O, ?> D57G?LF4F4< GEF=>7> >?D>E4 ?>?GG<? 
=5G4>6?5F6>D<F5?L=GN >F5=>G. 

 
7.3. &<?>6O5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< (4<DD5D5=F<D>64==O= 74G5F) 

 
&<?>6O5 ?D4>F<G5E><5 7444=<O > 4<DD5D5=F<D>64==><G 74G5FG 

1. �D>E<>FD<F5 F5>EF < 6O55D<F5 >E=>6=O5 ?D54?>65=<O 

2. �?D545?<F5 >E=>6=GN <45N F5>EF4 

3. �E?>?L7G=F5 F5>EF, GF>5O ?>4F65D4<FL E6>N F>G>G 7D5=<O 

4. �D>G<F4=F5 F5>EF < >F65FLF5 =4 6>?D>EO > =5<G. 

5. �>EF46LF5 G4EF< F5>EF4 6 ?>7<G5E>>< ?>DO4>5. 

6. �5D544=F5 >E=>6=GN <45N F5>EF4 

WHAT IS TOURISM? 
Tourism industry like any other kind of industry is a complicated developing system. To understand how it works, one 

should understand what are its parts and what people working in this industry do. 
Tourism is the business providing services for people who are traveling - on their holidays for leisure or business 

purposes. Tourism has become a popular global leisure industry. It9s the world9s fastest growing industry. Its activities are 
running hotels, resorts, bars, tour operators, cruise ships, and other structures. 

Tourism nowadays is the main industry for many countries, such as Egypt, Greece, Thailand and many others. Most 
people there work in tourism providing different services, such as transportation (airliners, cruise ships, taxies, etc.), hospitality 
services (hotels, resorts, etc.), entertainment (casinos, concert halls, theatres, etc.) and catering. 

Tourism has a long history. Wealthy people have always traveled to other parts of their countries or to other countries 
to see great buildings, works of art, learn languages, understand new cultures and taste different cuisines. People began to use 
the word <tourism= at the beginning of the 19th century. 

The World Tourism Organization (UNWTO) was founded on the recommendation of the UN. It is based in Madrid, 
Spain. This organization promotes tourism all over the world and works with statistical information on international tourism. 
Most countries of the world are its members. English is one of the official languages of the UNWTO. 

Since 1980, 27 September is World Tourism Day. On that day in 1970 the UNWTO was established. The purpose of 
this day is to show the role of tourism in the world and to demonstrate how important it is in political, economic, social and 
cultural life of our planet. 

The UNWTO names 10 most visited countries of the world. They are France, the USA, Spain, China, Italy, Great 
Britain, the Ukraine, Turkey, Germany and Mexico. Paris is the most visited city on the planet. About 15,6 million tourists 
visit it every year. 

TYPES OF TOURISM 
People travel for many purposes and in different ways. That is why there are a lot of types of tourism you can choose 

from. If you like sightseeing, it can be cultural tourism, if you are fond of music, you will take up music tourism, if you enjoy 
nature, wildlife tourism will be best. Other examples of tourism are whale watching, archaeological, Christian, wine, and many 
others. 

Educational tourism has become very popular in the modem world. Visiting another country to learn about its culture or to 
practice the skills one has got in class are the main focus of educational tourism. Students all over the world take part in 
Student Exchange Programs and Study Tours which help them to find a place to live and study for some time. It usually takes 
some months. The International Practicum Training Program provides students with practice abroad. 
For some people tourism and sport are closely connected. Sport tourism including hiking, mountaineering, canoeing, bicycle 
tours and other kinds are for those who are fond of sport and want to keep fit. 
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Extreme or shock tourism based on extreme sports attract those who like to travel to dangerous places (jungles, 
deserts, caves, and so on) or take part in dangerous actions. There is always an element of risk in such tourism which is 
attractive to those who need adrenalin. Under-ice diving in the White Sea, travelling across the Chernobyl zone, rafting, flights 
on balloons are only some examples of extreme tourism. 

Space tourism has become reality in the 21st century. The start of space tourism was made at the end of 1990s by the 
private company from the USA, <Space Adventures Ltd.= In 2000, it made a contract with a commercial Russian space 
company <Mir Corp= for space tourism and in 2001 the first space tourist, an American businessman Dennis Tito, made his 
first flight to the International space station <Mir=. The Russian Space Agency is now the only organization providing transport 
for space tourists. They fly on board a Soyuz spacecraft for US $20 4 35 million. All space tourists are trained at the Yuri 
Gagarin Cosmonaut Training Centre in Russia. Commercial space travel may be the norm as soon as 2012 as new technologies 
in spacecraft building will make space transportation more available. The first orbiting hotel, <The Galactic Space SuiteHotel= 
is going to be open. Space ports all around the planet will be built in near future, the first ones in Singapore, United Arab Emir-
ates and in the USA. They will include training centres for space tourists. 

When organized correctly, tourism should take care of natural resources and develop economic and cultural life of the 
region. But sometimes fast developing tourism industry can become dangerous to the environment. That is why a lot is said 
about sustainable tourism now. It9s a tourism industry which makes a low impact on social, economic, natural and cultural 
environment of the region and also takes into account needs of tourists. In other words, sustainable tourism is organized in 
such a way when tourists enjoy their rest and respect the environment and culture of local people. The World Tourism 
Organization made a special program which is aimed at development of sustainable tourism. 

 
�>47>F>6LF5 <>=>?>7 < D4EE>46<F5 > E6>5= F>G>5 7D5=<O =4 44==O= 6>?D>E <?< ?D>5?5<G  

1. �OE>46<F5 E6>N F>G>G 7D5=<O =4 44==O= 6>?D>E 

2. �444=F5 6>?D>E ?> F5<5 

3. �F65FLF5 =4 6>?D>EO ?> F5<5 

1. Why are there so many types of tourism? 
2. What does <educational tourism= mean? 
3. How long do exchange programs usually take? 
4. What attracts young people in exchange programs? 
5. What kinds of sport are closely connected with tourism? 
6. Can you give any examples of the newest kinds of tourism? 
7. When and how did space tourism start? 
8. What will make space tourism more available and popular in near future? 
9. In what countries will the first space ports be built? 
10. Will training of space tourists be available there? 
11. Why do people speak more and more about sustainable tourism nowadays? 
12. What are the two main ideas of sustainable tourism? 
13. What types of tourism would you like to take up? 

 
�D<F5D<<>F5=><?D><56GF>G=>=4FF5EF4F<< (4<DD5D5=F<D>64==O=74G5F) 

�F5=>4 %4D4>F5D<EF<>< >F65F4 EFG45=F4 

>F?<G=> 1) EFG45=F ?>?=> <7?4745F <4F5D<4?, 445F ?D46<?L=>5 >?D545?5=<5 
>E=>6=OE ?>=OF<=;  
2) >5=4DG6<645F ?>=<<4=<5 <4F5D<4?4, <>65F >5>E=>64FL E6>< 
EG645=<O, ?D<<5=<FL 7=4=<O =4 ?D4>F<>5, ?D<65EF< =5>5E>4<<O5 
?D<<5DO =5 F>?L>> <7 GG55=<>4, => < E4<>EF>OF5?L=> E>EF46?5==O5;  
3) <7?4745F <4F5D<4? ?>E?54>64F5?L=> < ?D46<?L=> E F>G>< 7D5=<O =>D< 
?<F5D4FGD=>7> O7O>4.  

E>D>L> EFG45=F 445F >F65F, G4>6?5F6>DONM<= F5< 65 FD55>64=<O<, GF> < 4?O 
>F<5F><, => 4>?GE>45F 132 >L<5><, >>F>DO5 E4< 65 <E?D46?O5F, < 132 
=54>G5F4 6 ?>E?54>64F5?L=>EF< < O7O>>6>< >D>D<?5=<< <7?4745<>7>.  

G4>6?5F6>D<F5?L=> EFG45=F >5=4DG6<645F 7=4=<5 < ?>=<<4=<5 >E=>6=OE ?>?>65=<= 
44==>= F5<O, =>:  
1) <7?4745F <4F5D<4? =5?>?=> < 4>?GE>45F =5F>G=>EF< 6 >?D545?5=<< 
?>=OF<= <?< D>D<G?<D>6>5 ?D46<?; 
 2) =5 G<55F 4>EF4F>G=> 7?G5>>> < 4>>474F5?L=> >5>E=>64FL E6>< 
EG645=<O < ?D<65EF< E6>< ?D<<5DO;  
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3) <7?4745F <4F5D<4? =5?>E?54>64F5?L=> < 4>?GE>45F >L<5>< 6 
O7O>>6>< >D>D<?5=<< <7?4745<>7>.  

=5G4>6?5F6>D<F5?L=> EFG45=F >5=4DG6<645F =57=4=<5 5>?LL5= G4EF< E>>F65FEF6GNM57> 
6>?D>E4, 4>?GE>45F >L<5>< 6 D>D<G?<D>6>5 >?D545?5=<= < ?D46<?, 
<E>464NM<5 <E E<OE?, 55E?>DO4>G=> < =5G65D5==> <7?4745F <4F5D<4?. 
�F5=>4 «=5G4>6?5F6>D<F5?L=>» >F<5G45F F4><5 =54>EF4F>< 6 
?>47>F>6>5, >>F>DO5 O6?ONFEO E5DL57=O< ?D5?OFEF6<5< > GE?5L=><G 
>6?445=<N ?>E?54GNM<< <4F5D<4?><. 

 
7.4. &<?>6O5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< (>>=FD>?L=4O D45>F4) 

 
1. �5D5654<F5 < =4?<L<F5 E?>64 < E?>6>E>G5F4=<O 6 2 >>?>=><.  

Travel agent, to travel light, a pleasant trip, to take a trip, waiting room, information office, booking office, passenger, 
to miss a train, one way/return ticket, smoking/non-smoking section, a backpack, luggage, custom officer, to book tickets, to 
reserve/ to book a flight, first/ business class, duty-free shop, to pass/ to go through customs/ passport control, cabin, tour 
operator, car renting, sightseeing tours, tour group, price-list, to make a reservation, passport, visa, international tourism, a 
guide, a guide-interpreter, a conductor, a customer, a suitcase. 

Tourism Tourist business 
 
 
 

 
 

 

 

 
Tourism  
Tourist  
Tourist activity  
Tourist industry  
Tourist business  
Hotel business  
Restaurant business  
Hospitality  
Hospitality industry  
Accommodation  
Catering services  
Transportation  
Recreation  

 
2. �5D5654<F5 EE5<G =4 DGEE><= O7O>.  

Hospitality industry 
 

Accommodation Catering 
 

Transportation Recreation 

Hotel business Restaurant business   Tourist business 

 

 
3.�5D5654<F5 < =4?<L<F5 E?>64 < E?>6>E>G5F4=<O 6 E>>F65FEF6GNM<5 >>?>=><.  

Airplane, jet, hotel, motel, restaurant, boarding pass, sleeping car, camp, park, night club, ship, fast food, bar, bus, ferry, sports 
car, disco-bar, train, café, air terminal, sanatorium, resort, food store, marina, diving, art museum, audio travel book, national 
parks, workshop, canteen, risk sports.   

Accommodation Catering Transportation Recreation 
 

 
 

   

4. �F>, <7 ?D<6545==OE =<65 ?N45=, D45>F45F 6 FGD<EFE>>= <=4GEFD<<: 

Joan is a reservation agent. 
Frank is an office manager. 
Alex is a tour guide. 
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Britney is an interpreter.  
Mary is a receptionist. 
Martin is a lawyer. 
Paul is a waiter. 
 
5. �?D545?<F5, O6?ONFEO ?< MF< ?N4< FGD<EF4<< <?< =5F:  

1 3 I was at the museum at the country last Friday. It was great. I never knew that visiting a museum is so interesting and 
exiting.  
2 3 My parents took me to the mountains last weekend. We slept in tents, swam in the river, cook our meals on fire. It was 
fantastic. We came back home on Monday. That was a weekend that I will never forget. 
3 3 Every summer we go to the sea. I like spending my free time doing nothing just swimming and sunbathing. During these 
moments I always forget about my school and lessons. 
4 3 Last Thursday we went to Kislovodsk. We saw many interesting places and old monuments, drank mineral water, had a 
walk in the beautiful park. The excursion was very interesting. 
5 3 Last month I spent at the sanatorium. I always thought that sanatorium is a very boring place with a lot of ill people. But 
really it wasn9t that bad. I actually got a good rest and restored my health. 
 
Mind the words that were new to you 
______________________________________________________________________________________________________
______________________________________________________________________________________________________
______________________________________________________________________________________________________
______________________________________________________________________________________________________
______________________________________________________________________________________________________ 

�4?<L<F5 E?>64 E?54GNM<5 >>?>=><: 

>>D45?L, E4=4F>D<=, >4D5, E?4?L=O= 647>=, ?4D><, >GD>DF, =4F<>=4?L=O= ?4D>, 7<4, E4<>?5F, ?475DL, D5EF>D4=, 
?>E44>G=O= F4?>=, ?4D>, FGD7DG??4, E?D46>G=>5 5ND>, 7<4-?5D56>4G<>, ?>574, >?<5=F, <4747<= 55E?>L?<==>= 
F>D7>6?<, ?D>>4F 46F><>5<?5=, 44=6<=7, =>G=>= >?G5, 46F>5GE, <=EFDG>F>D-?D>6>4=<> 

Accommodation Catering Transportation Recreation 
 
 

 
 

   

�D<F5D<<>F5=><?D><56GF>G=>=4FF5EF4F<< (>>=FD>?L=4O D45>F4) 
�F5=>4 %4D4>F5D<EF<>< >F65F4 EFG45=F4 

>F?<G=> 1) EFG45=F ?>?=> <7?4745F <4F5D<4?, 445F ?D46<?L=>5 >?D545?5=<5 
>E=>6=OE ?>=OF<=;  
2) >5=4DG6<645F ?>=<<4=<5 <4F5D<4?4, <>65F >5>E=>64FL E6>< 
EG645=<O, ?D<<5=<FL 7=4=<O =4 ?D4>F<>5, ?D<65EF< =5>5E>4<<O5 
?D<<5DO =5 F>?L>> <7 GG55=<>4, => < E4<>EF>OF5?L=> E>EF46?5==O5;  
3) <7?4745F <4F5D<4? ?>E?54>64F5?L=> < ?D46<?L=> E F>G>< 7D5=<O =>D< 
?<F5D4FGD=>7> O7O>4.  

E>D>L> EFG45=F 445F >F65F, G4>6?5F6>DONM<= F5< 65 FD55>64=<O<, GF> < 4?O 
>F<5F><, => 4>?GE>45F 132 >L<5><, >>F>DO5 E4< 65 <E?D46?O5F, < 132 
=54>G5F4 6 ?>E?54>64F5?L=>EF< < O7O>>6>< >D>D<?5=<< <7?4745<>7>.  

G4>6?5F6>D<F5?L=> EFG45=F >5=4DG6<645F 7=4=<5 < ?>=<<4=<5 >E=>6=OE ?>?>65=<= 
44==>= F5<O, =>:  
1) <7?4745F <4F5D<4? =5?>?=> < 4>?GE>45F =5F>G=>EF< 6 >?D545?5=<< 
?>=OF<= <?< D>D<G?<D>6>5 ?D46<?; 
 2) =5 G<55F 4>EF4F>G=> 7?G5>>> < 4>>474F5?L=> >5>E=>64FL E6>< 
EG645=<O < ?D<65EF< E6>< ?D<<5DO;  
3) <7?4745F <4F5D<4? =5?>E?54>64F5?L=> < 4>?GE>45F >L<5>< 6 
O7O>>6>< >D>D<?5=<< <7?4745<>7>.  

=5G4>6?5F6>D<F5?L=> EFG45=F >5=4DG6<645F =57=4=<5 5>?LL5= G4EF< E>>F65FEF6GNM57> 
6>?D>E4, 4>?GE>45F >L<5>< 6 D>D<G?<D>6>5 >?D545?5=<= < ?D46<?, 
<E>464NM<5 <E E<OE?, 55E?>DO4>G=> < =5G65D5==> <7?4745F <4F5D<4?. 
�F5=>4 «=5G4>6?5F6>D<F5?L=>» >F<5G45F F4><5 =54>EF4F>< 6 
?>47>F>6>5, >>F>DO5 O6?ONFEO E5DL57=O< ?D5?OFEF6<5< > GE?5L=><G 
>6?445=<N ?>E?54GNM<< <4F5D<4?><. 



 

 
8. ''����-��&�

8.1. �E=>6=4O ?<F5D4FGD4 
1. �>?G5<G5=>>, �. �.  �=7?<=E><= O7

>5D47>64=<O / �. %. �76>?5=E>4O
.D4=F, 2019. 4 184 E. 4 (�D>D
// -�% .D4=F [E4=F]. 4 URL: ht

1. &D<5G=E>4O, %. �.  �=7?<=E><= 
?D>D5EE<>=4?L=>7> >5D47>64=
�744F5?LEF6> .D4=F, 2019. 4
4 &5>EF : M?5>FD>==O= // -�% .

 
8.2. �>?>?=<F5?L=4O ?<F

1. �>L=O74, �. �.  �=7?<=E><= O7
?D>D5EE<>=4?L=>7> >5D47>64=<
.D4=F, 2019. 4 267 E. 4 (�D
M?5>FD>==O= // -�% .D4=F [E4=

2. �GDO564, $. �.  �=7?<=E><= O7O>. �
?D>D5EE<>=4?L=>7> >5D47>64=<
2019. 4 264 E. 4 (�D>D5EE<>=
�5D47>64F5?L=4O ??4FD>D<4 .D

3. �GDO564, $. �.  �=7?<=E><= O7O>. �
?D>D5EE<>=4?L=>7> >5D47>64=<
2019. 4 254 E. 4 (�D>D5EE<>=4
.D4=F [E4=F]. 4 URL: https://ura
 

�5D<>4<G5E><5 <744=<O: 
1. �4F5D<4?O 4?O ?>47>F

https://www.britishcouncil.ru/tea

2. �5EF=<> $>EE<=E>>7> G=<65DE
?D5?>4464=<O. 3 [-?5>FD>==O=

3. �6D47<=E><= 7G<4=<F4D=O
http://www.iprbookshop.ru/1002

4. %>6D5<5==O5 ?<=76<EF<G5E><
4>EFG?4: http://www.iprbooksho

8.3. �D>7D4<<=>5 >55E?5G5=<5 
�<=>> 3 �D>7D4<<=>5 >55E
Microsoft Windows, Microso

 
8.4. �47O 44==OE, <=D>D<4F<>

1. �5D47>64F5?L=O= D5EGDE �
2. �5D47>64F5?L=4O ??4FD>D<4 .

 
9. ��&�$���,��-&�

 
$54?<74F<O GG55=>= 4<EF<

?<=74D>==>7> >45<=5F4, >><?LN
�5>DG4>64=<5 GG55=>7> >4

(�<=>>V6.5), MCOffice, ?>>4

��&���'�%��� � ��$�$��&������
��%&�����/ 

<= O7O> 4?O >>??5465= (A2-B2) : GG55=>5 ?>E>5<5 4?O
5=E>4O, �. -. �>64DE>4O ; ?>4 D544>F<5= �. �. �>?G5<G5
(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09

https://urait.ru/bcode/427572  
E><= O7O> 4?O <7GG4NM<E FGD<7< (B1-B2) : GG55
7>64=<O / %. �. &D<5G=E>4O. 4 2-5 <74., ?5D5

4 218 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5).
% .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/447

O ?<F5D4FGD4 
<= O7O> 4?O <7GG4NM<E FGD<7< (A2-B1+) : GG55
>64=<O / �. �. �>L=O74. 4 6-5 <74., <E?D. < 4>?.

(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978
F [E4=F]. 4 URL: https://urait.ru/bcode/444578  
O>. �5>E<>>-7D4<<4F<G5E>>5 ?>E>5<5 6 2 G. '4EFL 1 : G
>64=<O / $. �. �GDO564. 4 6-5 <74., <E?D. < 4>?. 4 �

5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09890
<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/437048  
O>. �5>E<>>-7D4<<4F<G5E>>5 ?>E>5<5 6 2 G. '4EFL 2 : G
>64=<O / $. �. �GDO564. 4 6-5 <74., <E?D. < 4>?. 4 �
E<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09927-0. 

ps://urait.ru/bcode/437049  

 

>47>F>6>< 74=OF<= ?> 4=7?<=E>><G. 3 
l.ru/teach/resources/online 

=<65DE<F5F4 4DG65O =4D>4>6. %5D<O $GEE><= < <=>EF
>==O= D5EGDE]- $56<< 4>EFG?4: http://www.iprbookshop

F4D=O= 6GD=4?. 3 [-?5>FD>==O= D5EG
/100257.html 

G5E><5 < <5F>4<>> 3 4<44>F<G5E><5 <EE?54>64=<O. 3 
ookshop.ru/99328.html 

5=<5  
5 >55E?5G5=<5 4?O >D74=<74F<< ?<=74D>==>7> >
icrosoft Office,  Google Chrome 

4F<>==>-E?D46>G=O5 < ?><E>>6O5 E<EF5<O,
EGDE �D<F4=E>>7> %>65F4 3 http://www.britishcou
<4 .$��& 3 http://www.urait.ru  

&�%��'�%��� ���%��'���� ��%&

4<EF<??<=O FD55G5F =4?<G<O GG55=>7> >45<=
<?LNF5D=>7> >?4EE4.  

>45<=5F4: D45>G55 <5EF> ?D5?>4464F5?O, ?D
?>>4?L=4O >><?LNF5D=4O E5FL, >><?LNF
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���� ���%��'���� 

5 4?O ED54=57> ?D>D5EE<>=4?L=>7> 
G5<G5=>>. 4 �>E>64 : �744F5?LEF6> 

09287-5. 4 &5>EF : M?5>FD>==O= 

: GG55=>5 ?>E>5<5 4?O ED54=57> 
?5D5D45. < 4>?. 4 �>E>64: 

=<5). 4 ISBN 978-5-534-12054-7. 
de/447363  

: GG55=>5 ?>E>5<5 4?O ED54=57> 
 4>?. 4 �>E>64 : �744F5?LEF6> 

978-5-534-11164-4. 4 &5>EF: 

: GG55=>5 ?>E>5<5 4?O ED54=57> 
�>E>64 : �744F5?LEF6> .D4=F, 
-7. 4 &5>EF : M?5>FD>==O= // 
 
: GG55=>5 ?>E>5<5 4?O ED54=57> 
�>E>64 : �744F5?LEF6> .D4=F, 

0. 4 &5>EF : M?5>FD>==O= // -�% 

 &5>EF: M?5>FD>==O= // 

<=>EFD4==O5 O7O>< < <5F>4<>4 <E 
kshop.ru/79167.html 

D5EGDE]- $56<< 4>EFG?4: 

 [-?5>FD>==O= D5EGDE]- $56<< 

=>7> >45<=5F4. 

F5<O, �=F5D=5F-D5EGDEO  
tishcouncil.org  

�%&�����/  

 >45<=5F4: �G?LF<<54<==>7>-

?O, ?D>7D4<<=>5 >55E?5G5=<5 
?LNF5DO E ?<F5=7<>==O< 
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?D>7D4<<=O< >55E?5G5=<5<, ?>4>?NG5==O5 > E5F< �=F5D=5F, F5?56<7>D, GG55=>-<5F>4<G5E>>5 
>55E?5G5=<5, 4>E>4, GG55=4O <555?L. 

 
10. �%������%&� �%�����/ ��%&�����/ ��&��� % ��$���'���/�� 

��������%&/�� 
 
�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO E?5F<4?L=O5 

GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 F5E=<G5E><5 ED54EF64 
>5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 4EE<EF5=F4 (FLNF>D4), 
>>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 F4>65 GE?G7< 
EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 
<=64?<44<< <>65F 5OFL >D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 >F45?L=OE 
7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 
<=64?<44<< >EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 
6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?> 
>5D47>64F5?L=>= ?D>7D4<<5 ?<F4<< E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< >E6>5=<< 
4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E GG5F>< 

<=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < 
>D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO 
G65?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 >DG?=O= 
LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO G65?<G<64NM55 

GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 

GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL 
< >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> ?>?L7>64=<O, ?D< 
=5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4D4FGD4 <=4<6<4G4?L=>7> 
?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O <=D>D<4F<<; 
3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-

46<74F5?L=>7> 4??4D4F4: 
3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< ?D>7D4<<=O< 

>55E?5G5=<5< <?< =44<>F>6O64NFEO FLNF>DG; 
3 ?> 65?4=<N EFG45=F4 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
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